1.

H=0| E0tste =

0 10 20 30 40 50 60 70 80 90 100(%)
I N I T N AN T T A |

Ag [ 2| 28 | A=

>
> ®MEH 30%

a1z




| .
9 gohd @9t @ THgol B B2 i Aukgluzt)
L TE]-I:IL]]-.

0000 |000
AA AAA
\ )
© 10000kg
O 5000kg
A 1000kg

i

ke

o
rl:l

]

16200000 ¥

v v vy
0x
i

0
o

16209+

(44000 + 37000) x 200 = 1620 %t ()




Ho
2

SHA
ol
A

| A

St
ot

o] 20 gelztd 6
o]

St
ot

o] 7}l

100

KM

50

ol

<

{F

|

1jo

[ =

[ ]x0.05=20

[
[

<

=0

1A 8

=20+ 0.05
400(

)

,mo




7} 8000 F-2FH @pAlEo] H4=

rr

ohe T TofA A AR
2 FelA] A5HA| Q.
A2E
(30%)
@
> = o}
> " 1200%
AIBO] B4 8000 X — = 1200 (
100

)




5.

Ch& 132 Hal] v sPse] Fotshs A
Uth, o 9 Jejmo] Aoz utex] e A

0

75 25

@ 7F2 15%, AF 45 %l B2
o] 5ol 712-9] 3ujd Yt




